
AEG71−8A,81

Colorimetric filter transfer  n = 8
c*8  = a c*b with a = 0,00; b = 1,00

rgb −> rgb* rgb* −> rgb*8



AEG71−8A,82

Colorimetric filter transfer  n = 8
c*8  = a c*b with a = 0,00; b = 1,00

rgb −> rgb* rgb* −> rgb*8



AEG71−8A,83

Colorimetric filter transfer  n = 8
c*8  = a c*b with a = 0,00; b = 1,00

rgb −> rgb* rgb* −> rgb*8



AEG71−8A,84

Colorimetric filter transfer  n = 8
c*8  = a c*b with a = 0,00; b = 1,00

rgb −> rgb* rgb* −> rgb*8



AEG71−8A,85

Colorimetric filter transfer  n = 8
c*8  = a c*b with a = 0,00; b = 1,00

rgb −> rgb* rgb* −> rgb*8



AEG71−8A,86

Colorimetric filter transfer  n = 8
c*8  = a c*b with a = 0,00; b = 1,00

rgb −> rgb* rgb* −> rgb*8


